ITI Turner 2nd Year Module 5 Thread Cutting

(1). How many number of teeth gear is used as translating gear to cut metric

thread on British lathe? | ﬁﬂ%mﬁuwrﬂﬁﬁ %ﬁﬁ%ﬁﬂgﬂﬁ%’[ﬁﬂ?
& ¥ H fordm idl aral iR &1 SuanT far sran g2

(A) 100
(B) 127
(C) 140
(D) 135

Correct Answer : B

(2). What is the lead of M 24 x 3.5 triple start thread? | M 24 x 3.5 U@ @< 98

HI IS T §?
(A) 3.5mm
(B) 8.5mm
(C) 10.5 mm
(D) 12.8 mm

Correct Answer : C



(3). What is the method of cutting a multiple thread? | W@ 3P US BT DI

(A) Thread chasing dial method | IS ol ST fafdr
(B) Compound reset method | HUNS S e fafd
(C) Method using slotted face-plate | TS BY-Wic &1 TN B df [

(D) First driver method | W@’S&?ﬂm

Correct Answer : B

(4). What is the formula to find the helix angle of thread? | %%WW@
1 A G R 52

T X lead
(A) Pitch dia



Pitch dia
) T xlead

lead

1 X Pitch dia

(C)

1 x Pitch dia

lead

(D)

Correct Answer : C

(5). What is the formula to calculate the core dia of the square thread? | PR

IS P DR N B UM B3 BT I FT 82
(A) Major dia - 2 x depth | AoR 1Y - 2xTI€TI§

(B) Major dia - minor dia | ToR Y - HIQAR ATY
(C) Major dia - Pitch dia | HoR oI - fUd &g
(D) Major dia - Depth of thread | AoR 19 - %ﬁ‘l%?lé

Correct Answer : A

(6). What is the nose cutter width of the square threads tool? | <eh[UR QQH cd
SIS R 8?
&I ATh HeR

(A) 0.5 x Pitch

(B) equal to pitch | g o SRR
(C) Pitch /0.5

(D) 2 x Pitch

Correct Answer : A



(7). Calculate change gears to cut a three start thread having a pitch of 1.5 mm;

the lead screw has a pitch of 6 mm. | 1.5 it &1 forg aTal 9 =T 9 Y Breq
& o o R &1 o Y ©ite &6 6 fodt 1 T gt g

(A) Driver 45 teeth, Driven 60 teeth | TTA® 45 Gid, 60 &Id WRd

(B) Driver 60 teeth, Driven 50 teeth | TTcId 60 Gid, ATeld 50 Gid

(C) Driver 30 teeth, Driven 70 teeth | ITd® 30 Gid, 70 &id URd

(D) Driver 50 teeth, Driven 100 teeth | IT® 50 Gid, 100 Gid URd

Correct Answer : A

(8). What is the angle of saw tooth thread? | ﬁ§q$ Q_S'WWEP:IT%?
(A) 29°
(B) 30°
(C) 45°
(D) 90°

Correct Answer : B

(9). How many starts in thread? | Q‘s’ﬁ%ﬁ@‘c‘@ﬁ%p

LN 2T
RN

(A) Triple start | E’W’{R?&ﬂ?f
(B) Double start | éléﬁ{l’\’?&ﬂﬁ




(C) Single start | Uch T [ 3Id
(D) Quadruple start | T’?Rﬁ%&'lﬁ

Correct Answer : A

(10). Find the lead of a 2 start thread having pitch 1.5 mm? | 1.5 i g g 2

WIE IS B WIS J1d Bifor?
(A) 1.50 mm
(B) 3.00 mm
(C) 4.50 mm
(D) 6.00 mm

Correct Answer : B

(11). What is the formula to cut british thread on metric lead screw lathe? | m

e TP AU IR o= 9 Bl BleA HIGA g ?
DR 127
DN 5PN
(A) -
DR 5PN
DN 127
(B)
DN
— —5PN

DR
(C)



DN
— =127XPN
DR

(D)

Correct Answer : A

(12). Which type of thread have higher mechanical advantage? | fPA IR & IS
&1 3P TifAD ATH §?

(A) V' thread | V' U8

(B) Acme thread | ThH U

(C) Square thread | Eﬁﬁa@
(D) Buttress thread | a@ﬂa_s’

Correct Answer : C

(13). What is the use of thread? | Q_S'WB'Q@PTW%?

(A) Used in carpenters vice | PRUCR a1 H SXIAT fopd

(B) Used in screw jack | &F Sid H SUTNT fohdT ST §

(C) Used in nut and bolt | 7€ 3R Siee & SUANT foa SITa 8
(D) Used in machine vice | AR & a1g9 & IUANT fhar S1dT 8



Correct Answer : A

(14). What is the meaning of M24 in M 24 x 3 single start thread? | M 24 x 3 RITTd

WIE 98 T M24 BT i AT g2

(A) Core dia of thread | NS BT DR A

(B) Major dia of thread | U BT HoR A

(C) Effective dia of thread | S BT YHTAT AN

(D) Depth of thread | a_s'ﬁTl—E!Tl_‘é:

Correct Answer : B

(15). Calculate pitch diameter of f 24 x 3 mm square thread? | 24 x 3 it ari o

AN R ARINGICEY.

(A) 21 mm

(B) 21.5mm
(C) 22.5mm
(D) 24 mm

Correct Answer : C

(16). What will be the effect in helix angle if lead changes for a give diameter

work? | B & O § Tfe oits & uRad- giar g di 2fcrey oo & s yH1a
g3

(A) Lead decreases helix angle increases | IS ged % dd %I%laﬂﬁwm%

(B) Lead decreases helix angle decreases | IS ged % dd %ﬁﬂ'\qﬁwm

3



(C) Helix angle have no change when lead decreases | Eﬂgaﬁwéﬁaﬂw
A p1g uRad- el gl &

(D) Helix angle have no change when lead increases | Fﬂgaﬁwéﬁaﬂﬁwﬁ
PIS SGAd el GBI &

Correct Answer : B

(17). What is the included angle of acme thread? | QTJFﬁf S BT FiRferd HIoT T
82

(A) 55°

(B) 45°

(C) 30°

(D) 29°

Correct Answer : D

(18). What is the lead of M 10 x 1.5 double start thread? | M 10 x 1.5 LRSS

IS P ofis RAT?
(A) 2mm
(B) 3mm
(C) 3.5mm
(D) 4 mm

Correct Answer : B

(19). What is the purpose of idler gear in simple gear train? | GT?IITUTﬁI'CITa_"fff

3SR R BT e AT R?

(A) Reduce gear ratio | FTOR 3{JUTd ®H G




(B) Transmit power between driver and driven gears | dIcidh 3R T7ferd iR &
S Qi TR Bl

(C) Reduce spindle speed | sd &I Tfd HH B
(D) Increase spindle speed | @muﬂ‘s’w

Correct Answer : B

(20). What is the name of first member in a simple gear train? | WWWW
¢ Ugd Yo &1 A 1 8°?

(A) Driven | f$ad
(B) Driver | ST8aR
(C) Idler | 3MSSR
(D) Reversible gear | Ya&e TR

Correct Answer : B

(21). What is the formula used to find flat width of a buttress thread? | 6@3 DK

& A TSTS DI Wiol & ot {69 I3 &1 I b Srar g2
Pitch

(A) 2
Pitch

B) 3
Pitch




Pitch
8

(D)

Correct Answer : D

(22). What is the type of thread? | Q@WWW%?

H
2
H1

x
1 i
] | R ﬂN
£|N m' i (5|
= 8
8

AXIS OF THREAD /

(A) Acme thread | Q@a@

(B) Square thread | Eﬁﬁ?ag
(C) Worm thread | R

(D) Saw tooth thread | GTE\?J DK

Correct Answer : D

Bd= @D




(23). What is the name of angle marked as ‘X’ in thread cutting tool? | IS HIcT

A H X' & ¥ U H fafgd v &1 AH R1 52

£ T

(A) Front clearance angle | The FaraRy Il
(B) Side rake angle | HB_S'WW
(C) Front rake angle | The 3P DI
(D) Side clearance angle | %WW

Correct Answer : A

(24). What is the element of square thread marked as ‘x? | T Y8 B I Bl X’

mﬁri%a%m% H8d 82

(A) Thread width | 9 ®1 IS8
(B) Thread angle | 9 ®ITT
(C) Helix angle | BfcTag HITT
(D) Thread crest | 9§ Hhc



Correct Answer : C

(25). What is the advantage of using idler gear in simple gear train? | HIYIRU[

R ¢ ¥ 3MEEeR TR &1 STUNT S &1 1 Bl 82

(A) Affect gear ratio | IR 3{UTd &I gHTfdd B

(B) Does not affect gear ratio | TR 3IIUTd &I AT T8l 1 8
(C) Change the speed | TTid SIG@T

(D) Easy to engage | Y BT T %

Correct Answer : B

(26). What is the shape of buttress thread flank? | ¥4 98 Tidh BT ATHR FT

g2

(A) One flank is 90° and the other 45° | WW 90° GﬁT@TM? %’
(B) One flank is 30° and the other 45° | WW 30° GﬁT@TM? %’
(C) One flank is 60° and the other 45° | WW 60° @T@T{ 45° %
(D) Two flanks are at 60° | a‘ru%a'\tr 60° tl?%

Correct Answer : A



(27). What is the type of thread? | %WWW%?

=
A1 1 /1
7
7,
(A) Acme | Eﬁ

(B) Square | aif
(C) Saw tooth | ?I‘TJ‘;_::?I
(D) Buttress | EI?%AF

Correct Answer : D

(28). Which part of a lathe is used to catch thread quickly? | NS & T g HIT &1
SUTNT U8 DI o d B o Q7Y [T Il g2

(A) Tool post | E\Fftn?

(B) Topslide | ETUWE_S'

(C) Chasing dial | IR S
(D) Cross - slide | WVWWE_S'

Correct Answer : C

(29). What is the purpose of Square thread? | ¥h[dX NS BT 3%311 W%?



(A) To transmit power | R TTRA R o forg
(B) To make adjustment | JHRITS R o forg
(C) General fastening | TR ThRE-R

(D) For clamping | IR & forw

Correct Answer : A

(30). How many numbers of gears having in a simple gear train? | Udh HIYRU[

AR ¢ ¥ fosae RRR 81 672
(A) 2
(B) 3
(C) 4
(D) 5

Correct Answer : B

(31). What is the change gear ratio? If lead of worm thread to be cut - 0.35” and

Lead of lead screw - 4 T.P.l | URada firR C‘HTTHW%? tr%aﬁ&)@’w@gw
ST § - 0.35” 3R AS T HI TS - 4 T.P.I

(A) 70/50
(B) 50/70
(C) 120/20
(D) 20/120

Correct Answer : A



(32). What is the name of gear in compound gear train marked as ‘X’? | PHT3S
R A # R &19W ' & ®u & fafgd fear man g2

=

(A) 1stdriver
(B) 1stdriven
(C) 2nd driver
(D) 2nd driven

Correct Answer : D

(33). What is the term of thread the advancement of mating part in one complete

rotation? | 9IS P Teh YOI e H HIT &1 IAMT (TSATTHC) XMeq, T g2
(A) Pitch | fUa

(B) Depth | TERTS

(C) Helix angle | BfcTaT ITT

(D) Lead | IS

Correct Answer : D

(34). Which one is the angle of buttress thread? | Elag Q@'WW@?W%?



(A) 30°
(B) 45°
(C) 55°
(D) 60°

Correct Answer : B

(35). How much angle is to be added for lead angle of a square thread as

clearance to the helix angle? | %’%IWW@W%WﬁWﬁ%%FﬂE
BT & T fobamT v SeT ST 82

(A) 1°55

(B) 1°50'
(C) 1°45'
(D) 1°30'

Correct Answer : D

(36). How multi start threads are specified? | A TIE Q@Fﬁ IEIIéQ mﬁﬂﬁ
g2

(A) By stating dia and pitch | odI{ 3R fUg garR

(B) By stating dia and angle of thread | I 3R IS BT HIU TATH

(C) By stating core dia and pitch | PR Y 3R U I

(D) By stating dia, pitch, and no. of start | &dIY, ﬁ?[ 3R TR 3T TTE TdTh

Correct Answer : D

(37). Calculate the pitch diameter of M 64 x 6 mm square thread? | M 64 x 6 o

I A & O T Bt TUFT HI?



(A) 58 mm
(B) 60 mm
(C) 61 mm
(D) 62 mm

Correct Answer : C

(38). What is the angle of BSW thread? | BSW Q@'WWW%?
(A) 60°
(B) 55°
(C) 29°
(D) 45°

Correct Answer : B

(39). What is the name of gear in compound gear train marked as ‘X’? | PHT3S

R ¢ H R &19W ' & ®u # fafgd fearman g2

(A) 1stdriver

(B) 1stdriven



(C) 2nd driver
(D) 2nd driven

Correct Answer : A

(40). Which type of thread is used in lathe head screw? | @W%@@ﬁmw
& IS B SUINT fohaT STl g2

(A) Acme thread | an‘ﬁa@:
(B) Buttress thread | ae%}ra—s’
(C) Knuckle thread | THA VS

(D) Square thread I%ﬁﬁ?ﬂg

Correct Answer : A

(41). What is the relationship between pitch and lead of a single start thread? |

g 3R Uhdl Y[R3 IS & oid Hae T g2
(A) Lead is twice the pitch | TS &l R U §
(B) Lead is half the pitch | ©itS 3t o g

(C) Lead is equal to pitch | oIS T & SRIeR @
(D) Lead is % pitch | &€ % U g

Correct Answer : C

(42). What type of thread is used in screw jack machine? | @%Iﬁﬂ:{ﬁm
THR & IS BT IYTNT fHa1 STa1 82

(A) Acme thread | Qﬁﬂg
(B) Square thread | Eﬁﬁ?a@'



(C) Buttress thread | a@g%
(D) V-thread | fd g

Correct Answer : B

(43). Which of the following used buttress thread? | mﬁﬁwa@ﬂ
XIS fobaT T 82

(A) Screw jack | @@3’7
(B) Lead screw of lathe | AY BTG U

(C) Carpentry vice | HRUC o||£{-|

(D) General purpose nut and bolt | HTHIY spIvE :IEGﬁTEhE’

Correct Answer : C

(44). What will be the effect in helix angle if diameter changes for a given lead? |

gfe forddt fau v oits & fore aurg sgardr § ol sfcrad o H ot uHTg uST?

(A) Diameters decreases helix angle increases | WW@W%WW
¢ ST g

(B) Diameters decreases helix angle decreases | mﬁ%ﬁaﬂwﬁwm%
(C) No change in helix angle if diameter increases | @mm%a‘r%ﬁw
DI H BIg URad Tal g

(D) No change in helix angle diameter decreases | %ﬁwﬁwmﬁﬁé
gRkad e} uedl 8

Correct Answer : A

(45). What is the formula for pitch diameter of thread? | %%ﬁam%ﬁ«m
T T g?



(A) Major diameters - single depth | AoR 1Y - WW
(B) Major diameters - 2 depth | ASR AN - 2 TIETI'St

(C) Major diameters - minor diameter | AoR Y - Bl a1
(D) Major diameter - Pitch | AoR Y - fi=g

Correct Answer : A

(46). What is the change gear ratio? If lead of thread to be cut 7/16"” and Lead of
lead screw - 4 T.P.| | TRa@d AR 3 UTd o 872 Tfe 98 BT AS 7/16” BTET AT
SRS B HIAS-4T.P.l

| Driver - 20
Driven 50
A)
Driver B 70
Driven 40
(B)
Driver B 50
Driven 20
(C)
Driven B 40
| Driver 70

(D)

Correct Answer : B

o

(47). Which thread has only one helical formation? | fhg 98 had U %Iﬂomﬂ

T B 87




(A) Single start | U el J[23HTd
(B) Double start | GIg<1 YB3
(C) Triple start | fg< YaTd
(D) Quadruple | T g3

Correct Answer : A

(48). What is marked as “X"? | X %Wﬁﬁl’%ﬂwa?

(A) Driven gear | fga iR
(B) Intermediate gear | SeHITSUC IR
(C) Driver gear | S1gaR iR
(D) Pinion gear | Taf9a= iR

Correct Answer : B



(49). What is the element of square thread marked as ‘x’? | JN IS H dd Pl 'x' I
fafed fear 8, HeT AT 82

(A) Major diameter | IS UMH
(B) Minor diameter | Sicl g
(C) Core diameter | PR AN
(D) Pitch diameter | g w1

Correct Answer : D

(50). What is the name of thread cutting tool? | NS HicT] ¢ T R MH %?

(A) Square thread cutting tool | ¥PTUR DKy cd

(B) Single point tool | Udrdd ﬁg cd
(C) Knurling tool | :Iﬁ'llﬂff
(D) Form tool | tﬁﬁ@

Correct Answer : A






